Math 32B - Spring 2019

Exam 1

Full Name: L}’l@&m S/’Mef . -
ump: 103122264

Circle the name of your TA and the day of youf discussion:

Patrick Hiatt Eli Sadovnik Trederick

Tuesday k

e Read each problem carefully.

Va

Instructions:

e Show all work clearly and circle or box your final answer where
appropriate.

Justify your answers. A correct final answer without valid reasoning
will not receive credit.

Simplify your answers as much as possible.

Include units with your answer where applic.able.

e Calculators are not allowed but you may have a 3 x 5 inch notecard.
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i (10 points) Evaluate the iterated integral

/0 | /y /12 cos (gmz) dz dy.
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2. (15 points) Use a triple integral to find the volume of the solid enclosed by z =y~ + 2

and z = 10.
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3. (10 points) Evaluate the iterated iﬁtegral.
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4. (15 points) Consider the solid in the first octant bounded by the coordinate planes and
the planes 2 = 4—y, v = 1, and y = 2. If the solid has density function é(z,y, 2) = 37y,
Y

find the mass of the solid. ¥>0 Y0 = >0
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5. (25 points) Let VY be the solid bounded by the cone z — \/a:Z + 92 and the plane z = 5.
Set up but DO NOT EVALUATE a triple integral to find / / / 2 +y?+22dV in

each of the following coordinate systems.

1. Rectangular coordinates = W g — Frereed/n
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2. Cyhndrlcal coordinates
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6. (10 points) Use a double mtegral to find the area inside one loop of the polar rose
r = 3sin(46).
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region in the first quadrant of the plane bounded by the ellipse 972 + 442 = 1.

- > 4
e 9 .
- 5 '” U4V =
D
MFreosé  Jrsmo

7= Yoce) = V12 o
« r-
0srll
Whole gptec <o
20 ; o é%’ <0 .

} . /,vm

@O




THIS PAGE LEFT INTENTIONALLY BLANK

You may use this page for scratch work. Work found on this page will not be graded unless
, clearly indicated in the exam.
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